
Vocas LCD screen support for Sony FX6

0700-0200
Version Date: 25/03/2021 11:00

Vocas Systems b.v. info@vocas.com www.vocas.com Page: 1/1

Item No. Part Number Qty Description
1 12.008.01 1 Friction ring

2 12.009.01 1 Cup spring DIN2093 12x5,2 X0,6 RVS 1.4310

3 12.010.01 1 Screw M5x8 DIN 912 A2 70

4 01.046.01 2 Pin 3h6X10 ISO8734 st

5 12.017.01 1 Friction holder

6 12.257.01 1 Chassis FX6 lcd support

7 12.258.01 1 Frame FX6 lcd support

8 12.259.01 1 Friction FX6 lcd support

9 09.026.01 2 Spring 6,5x5,5xL10

10 09.016.03 2 Nut M4 for winged nut hexagonal

11 11.007.01 2 Ring 4,3x8x0,5 Din 433 St-Zn

12 11.008.04 2 Winged nut hexagonal small

13 04.037.01 2 Screw M4x25 din 965 A2

14 01.049.01 2 Screw M3X8 DIN912 A2 70

3 2 5 4 14 8 1 6
7

13

9

12

10

11

11

10

12

9

13


